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QUESTION 1

Express 5.6 meters as a percentage of 8 meters.
A. 70%

B. 4.48%

C. 25%

D. 75%

Correct Answer: A

QUESTION 2

A map has the scale of 4 cm to 1 km.

What is the actual area of a lake on ground which is represented as an area of 60 cm2 on the map?
A. 3.75cm2

B. 3.75 km2

C. 0.26 km2

D. 15 km2

Correct Answer: B

QUESTION 3
Precipitation (inches)
Date Albany Coral Bay Bunbury
6/1 0.01 0.02 0.02
6/2 0.25 0.35 0.00
6/3 0.55 0.75 0.20
6/4 0.00 0.45 0.10
6/5 0.90 1.01 0.50
6/6 2.00 2.15 1.90
6/7 0.95 1.05 1.15

How much more rain did Albany receive than Bunbury on the third of the month?
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A. 0.30 inches
B. 0.25 inches
C. 0.35inches
D. 0.55 inches

Correct Answer: C

QUESTION 4

The area of one face of a cube is 49 square centimeters. What is the total length of all its edges?
A. 48 cm

B. 98 cm

C.112cm

D. 84 cm

Correct Answer: D

QUESTION 5

Convert 250 centimeters to kilometers.
A. 0.0025 km

B. 0.025 km

C. 0.250 km

D. 2.50 km

Correct Answer: A
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